Orscussior Nobs L

$ept 3, toeq

hast Tima
Todaq -
+
Ly MO"L (Mlan,h‘@f\ b& Pa,ﬁ

Ly " —r’\l'aa/\or\l—@ro}. mua,,x) 1

D\P w sinx = %(1 — cos (2x))
Mm

=~ 2 L o)
0y (x) = =7+

——

T

And  pme Can calcal ot :

LaS?(ﬂ =

?
sin%x) + co> 2x) — stA (%)

“r)

- cosix)

1= cosUx) 4+ cos(ax)

2 JsUX) = [+ sw)

=) s = 'LL" cﬂty‘)



_~

froblem 1 jfan 3(76) (o> b1 dx

)

Sin 50 + coo ‘f(,n)
—s dx
(25 °(X)

S Sc\/\ }()L) -(05(13 d&.

?NWM 1

[

jcasm?x)‘ . 5,-,\3“) dy

299
= Sws () - Sn (x) - C\“(o)z(ﬂ ) dx

o

= ? .
- j‘” &) sa(r) ol — fcoé ). sial2) dx

. (9'-( X P

o1 oo



Paver3 -

/
COS5 X 4 _ 9
6. dx (solution: 2v/sinz — —(sinz)*/? + =(sinz)”? + C)
Vsinx 5 9

I

ICOS s.(x ). Sinlx) tdx

. ed
- cosstz) - (L=8n t(z)) St () de

|
= \[Cos"(x) JSin TmdL = (037(R) . 5/n G) di

.
f €osca) (1= 30 "a)) S ) o - J (o3°(n) - Sm"‘al dx
. -3 . 3’1 3 , }/;
- j’ "’lZ)OSN\ t(x‘)- (O 5(&)-50" rz)dx - [a; (a) . SIA a, dx
3
o3(zx) . S/ "t )= y ,t( 2ol ) O
= coin T (x (o 3¢2)- SN ()l - wsfl)(l—jln u‘))-s.r\ (xioly

% g 3,. 3 . ™
Lpeend f “’(t)-s;f\ l{z') .f(O )(&)- s." {:)D’x - jtas(x‘) .&-4 1‘1) - Ca’(l)"l"’ [z) dx

\ 5/, A Q
nix)? ' g ‘A Cx) 6) 1t
salx)® _ salz) = Sia + s < c
n

"

! S 9
Lsin(x) ° _ »‘tg Sin(x) /‘-e % Sin(x) % <C

A shocter way o U3 SN0 otus (osxydx

Cos x) du = j((-s?n”‘[x)) Ao s @:ﬁ—)— e
Vu

Ja T -



(3
Fﬂ? le\ ll’
7. Explain why the following calculation is incorrect, and then find the
correct value of the integral. (solution: 2 + 1/3/2)

/ V1—sin’zdr = / Vcos? x dx
—7/3 J

—m/3
=/ cos x dx
—7/3
= [sina]” .
V3
2
{ \ ﬁ 4
5 st ‘0 ol ‘:f‘ Costndx + | - @3 dx
-1
% % 4
/N B
qa = ! Stﬂ(& )
(—/?;{f , 5'«(;.)’ ) .
A ’tu YKl /‘1}5 2
'L\J
= (1-62)) - (o-1)
sa%) = = | -eJ% | 5
= S’ 2
gin(;%\ At }’q_ S

JWS"’Q Tobk = xtI3

u\;‘ =




%( 204, examl N.5)

% 7
fotsl‘n"’[l) [asglx) AL — Ltg"" Yy). Cl-Sin t{x) )' r031x) dx

- gb 'y 7
= ) Qin () (ONR) o n —ﬁ 2 sinfin) .co32) dx.

5’/"3‘:)—/(% _ 5,-};§(z) :ﬁL
> b - /o

|
< (3-9)- (4-0)
= s -6 Ys



frvlens o,
4. /a:cos x dx

j1(051(17dx.: fx( %/f [a}‘?—l‘l‘) )al)c

= f%dt*%fx- (o512 dx

Tl Uu=-c , v = ’!,_S,'QCUL)
du =d» , dv = (o5(23) d=x

I‘)LCOJ(U&\ ar =~ o - »\2’ Gin (2xd — Jf—}_ sia (2%) dx

: \
= 7% Sin(x ) +‘i' 3 (o5(22)
L
T

Sin(ax) = »&, &5 (2x)

-+ {(X-JLSJ'A(IL) +£(OSIU)) £C

W

8 nLL) <A (oy(11) ¢ C




blep 0 Eval
o Evalugt fs&(ﬁ)&z, ’)

[’tﬁ(\(,t ‘\5 ‘,’O W“‘F‘} S@C(?L) = Se[,[):) (M))\]

Jecu)+ b ()

Claw c%'( Sec\x) ) = §ec(x) n(x)

%L( bnexy ) = 3¢ ()

JSCC(X’ dzr = fmcx seaz) +L.nu)) s

Jec)thn ()

Soc %) + SeC(x) knix)
fec(x) +hnix) =

= Sec(
Choow 11 2 +hre , o da =(gec’cz) + Sec (x) kn(z) )%

So e 9!)(' J‘(AA—d“‘ = |nlul + C .

H(!\cL J Sec( dx = {n (Sec(n) +end | +C.




b\t ’, al
em M Ev: uol ¢ \r(aslf(i) dx 7

[’fm‘cx s b uH iounh'}j_ 003'00) = + “”(u) ]




